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Roots of General Polynomials

Every polynomial degree n hes n roots

x 1
2 0

x I but this is repeated root

tf polynomial hes only real coefficients then roots

bear in conjugate pairs

For cubic with real coefficients it must have at
least one real root as it will have complex conjugate

pari and real root or 3 real roots

For quartic it may have 4 complex roots therefore

never cross the x axis 2 complex conjugates
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Why does complex number division work

Because if 2 xtjy
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0 is argument or phase of z
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Which antan value do you use
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Convention is we take answers between IT and I
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Quickest way to get polar form of numbers is to
draw Argand Diagram

Complex conjugate reflect in real axis
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When funding 121 it's Tty
NOT jy

Draw 0 in the right quadrant

Angle gwein from twig value
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